Liabilities and Equity Exercises II Problem 7

Problem 7

Danish Bakery issued $1,000,000, face amount, of 6% bonds on January 1, 20X3. The bonds are 10-year
bonds, and Interest is payable every 6 months. At the time of issue, the market rate of interest was 8%,

so the bonds were issued at a discount.

a) Prepare calculations showing that issue price was approximately $4,786,725.

b) Use the effective-interest method of amortization, and prepare the journal entries that
Danish Bakery would record on January 1, 20X3, June 30, 20X3, and December 31, 20X3.

c) Show how the bonds would appear on Danish Bakery’s December 31, 20X3 balance sheet.

Worksheet 7
a)
b)
GENERAL JOURNAL
Date Accounts Debit Credit
1-Jan
30-Jun
31-Dec
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9
Bonds Payable
Plus: Premium on bonds payable

Solution 7

a)
Periodic interest payments (51,000,000 X 3%) $ 30,000
Present value factor (20 period annuity, 4%) X 14,8775 $ 446,324
Maturity value $ 1,000,000
Present value factor (20 periods, 4%) X 04564 S 456,390

Issue price of bond $ 902,714

Excellent Economics and Business programmes at: —

. //F\
university of e AACSB
groningen

ACCREDITED

| -
“The perfect start
of a successful,

_- . international career’
-- >

| to discover why both socially
and academically the University

of Groningen is one of the best
places for a student to be

I

L~

www.rug.nl/feb/education

Download free eBooks at bookboon.com

24 Click on the ad to read more



http://bookboon.com/
http://bookboon.com/count/advert/5e8cd819-4ddd-4941-a6bb-a16900eac393

Liabilities and Equity Exercises Il

b)

Problem 7

GENERAL JOURNAL

Date

Accounts

Debit

Credit

1-Jan

Cash

902,714

Discount on Bonds Payable

97,286

Bonds Payable

1,000,000

To record the issuance of $1,000,000, 5%,
10-year bonds at $902,714

30-Jun

Interest Expense

36,109

Discount on Bonds Payable

6,109

Cash

30,000

To record payment of interest ($1,000,000 X
.03 =530,000; $902,714 X .04 = $36,109)

31-Dec

Interest Expense

36,353

Discount on Bonds Payable

6,353

Cash

30,000

To record payment of interest ($1,000,000 X
.03 = $30,000; (5902,714 + $6,109) X .04 =
$36,353)

Bonds Payable

Plus: Premium on bonds payable

1,000,000
84,824 §

915,176
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